Estimating and Using the Inverse

LO: I can estimate and use inverse operations to solve additional and subtraction problems.

Estimate the missing number. Find the missing number using the inverse.
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29.

_ +2708 + 3719 = 8546
__+ 2755+ 3085 =7448
2890+ _ _ _ _+4784=11031
4960+ _ _ _ _+3293=11291

__+3099 + 1681 = 8695

3941 + __ _ _+1569=8411
2097 + _ _ _ _+2041=8783
1924 + 3568 + _ _ _ _ =9426
2221 + 3426+ __ __=7448
2273+ _ _ _ _+2425=6890
1039+ _ _ _ _+ 1350 =4042
2360+ __ __+3799=9677

_+4730+4745=12926
4571+ _ _ _ _+3052=10807

3371+ ____+1770=9411

2.

10.

12. __ _

14. _ _ _

16.

18. ___

20. __ _

22.

24,

26.

28.

30. ___

3339+ _ _ _ _+4146=9672

2969 + 3022 + _ _ _ _=9538

3020 + 2641+ ____ =8863
__+4126 + 4841 =9979
2313+ 1480 +____=9972
_+2041+4361=10 154
_ + 1884 +2399 = 9242
2609+ ____+4039=9145
_+4687 + 1337 =8014

_+2697 + 4501 =11 846

3588+ 1788+ _ _ _ _=6902
2883 + 4497 + _ _ _ _=28863
3094 + _ _ _ _+2807 =9248
2885+ 4343+ =9770

_+2671+ 1524 =5260
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Estimating and Using the Inverse: Answers

question answer
1 [2119
2 |2187
3 [1608
4 (3547
5§ |3357
6 |3202
7 |3038
8 |1012
9 |3915
10 |6179
N |2901
12 (3752
13 (4645
14 | 4959
15 (3934
16 (2497
17 | 1801
18 | 1990
19 |2192
20 (4648
21 (1653
22 | 1526
23 | 3518
24 1483
25 | 3451
26 |3347
27 (3184
28 |2542
29 (4270
30 | 1065
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